MHTEPCK{ON

I'b-51/170Bb

930 '**.**'**.**

I'ASOHOKOCHJIKA BEH3MHOMOTOPHA

JlelicTBUTENEH c:| 24.02.2025

KaraJjor 3anmacHBIX yacreii

ApPTHKYJ HaumeHnoBaHue geraau Ne Ha cxeme XapakTepucTHKa Koa-Bo mr./u3n.
925.00.00.11.01 Kponmreiin peiyara Cxema 1A-1 PP 1
925.00.00.11.02  iOmetka pyKOSTKH 1A-2 NBR, 20x510x3 1
923.00.00.11.10  |®wuxcarop Tpoca 1A-3 PAG6+GAF 1
929.00.00.11.05 iTpocux 1A-4 G639XXNNO000 1
925.00.00.11.07 KponiTeiin kperieHus pydku craprepa 1A-5 Q235, 96 1
925.00.00.11.03 T 'aiika 3akpsiTast M6 1A-6 M6 H11 1
925.00.00.11.09  iCkoba 1A-7 ABS, G46 2
930.00.00.11.08  iPykositka 1A-8 ¢22/t=1.35 1
925.00.00.11.11 OcHOBaHHE PYKOSTKI 1A-9 ©22/t=1.5 1
925.00.00.11.12  iBoar cneuuansubii M8X35 1A-10 M8X35 2
779.00.00.02.06  |T"aiixa M8 1A-11 M8 2
925.00.00.11.14  :3armymka 1A-12 PP, G46 2
896.00.00.01.05  illlaii6a miockas P8.5xD16x1.5 1A-13 O8.5xP16x1.5 4
925.00.00.11.16  {BonT cieuuanpHbiii M8x50 1A-14 M8X50 4
921.00.00.01.21 Taiika OapaiikoBas 1A-15 PP, G46 4
927.00.00.11.18 Tpocuk creruieH s 1A-16 G339XY90000, 1
925.00.00.11.18  iPsryar Topmo3sa 1A-17 Q235, /97.5/ 1
927.00.00.11.20 Ppruar cuerienus 1A-18 Q235, ¢7.5 1
925.00.00.11.19  Haxsanka 1A-19 PP, G46 1
927.00.00.11.22  iHaknanka 1A-20 PP, G46 1
930.00.00.12.01  iITaneins neBa Cxema 1B-1 {ABS, G46 1
930.00.00.12.02  iKopmyc neBoii manenu 1B-2 ABS, G46 1
930.00.00.12.03  iPykosTKa IJIACTHKOBAs 1B-3 ABS,G51S-V 1
930.00.00.12.04  iTpocHK BO3AYIIHO# 3aCITOHKH 1B-4 53SLNO00000 1
930.00.00.12.05  iPeryar 1B-5 1
00.02.01.01.18 Taiika M6 1B-6 M6 2
00.02.04.02.24 Bonr M6X30 1B-7 M6X30 1
00.02.04.02.30 Bont M6X40 1B-8 M6X40 1
930.00.00.12.09  {ITanens npaBas 1B-9 ABS, G46 1
930.00.00.12.10  iKopmyc mpaBoit naHenu 1B-10 ABS, G46 1
930.00.00.12.03  iPykosiTKa IIIACTHKOBAs 1B-11 ABS,G51S-V 1
930.00.00.12.12  iPsruar 1B-12 Q235,G51S-V 1
930.00.00.12.13 BunT cnienpanbHbIit 1B-13 G46 1
930.00.00.12.14  iI'pebeHka 1B-14 Q235,G51S-V 1
930.00.00.12.15  iIlpyxuna 1B-15 1
930.00.00.12.16  i{Brynka 1B-16 G46 1
930.00.00.12.17  iTpocuk 1B-17 G51S-V 1
00.02.01.01.18 Taiika M6 1B-18 M6 3
00.02.04.02.24 bonr M6X30 1B-19 M6X30 1
00.02.04.02.30 Bont M6X40 1B-20 M6X40 1
00.02.03.01.04 Bunt ST4.2X15 1B-21 ST4.2X15-C, 8 4
00.02.03.01.08 Bunt ST4.2X25 1B-22 ST4.2X25-C 4
930.00.00.12.23  iIlanens 1B-23 ABS, G46 1
00.02.03.01.08 Bunt ST4.2X25 1B-24 ST4.2X25-C 2
930.00.00.13.01  {/IBuratens Y170V B cbope Cxema 1C-1 1Y145V\Q161\Y145V 1
454.03.12.11.00  iBoar M8X25 1C-2 M8X25 3
923.00.00.12.03  illlmonka 4.775%x5%30 1C-3 45, 4.775x5x30 1
927.00.00.12.04  i®dnanen KPEIUICHHUS HOXKA 1C-4 Q235, XF/DF/GT 1
929.00.00.12.05  :Koxyx pemMHs IpUBOJHOTO 1C-5 PP 1
923.00.00.13.03  iBunt ST5.0X16 1C-6 ST5.0X16-F 4
927.00.00.12.07  iKpemuka 3amurHast 1 1C-7 PP, G46S 1
927.00.00.12.08 Kppoimika samurHas 2 1C-8 PP, G46S 1
930.00.00.13.09  :KocuibHBIIH HOX yaydiueHHbIH 20" 1C-9 40MnB, t=4.0 G5510000000 1
923.00.00.12.06  illlaiiba 1C-10 65Mn, t=3 1
923.00.00.12.07  iboar 1C-11 20Cr, 3/8-24UNFX35 1
930.00.00.14.01 Jleka Cxema 1D-1 1t=1.35 1
00.02.03.02.14 Bunt M5X15 1D-2 M5X15 2
925.00.00.13.04  iI'pebenka 1D-4 Q235, t=1.5 1
925.00.00.13.05 iCrspxka 1D-5 PVC, G51 1
927.00.00.13.06 TTanens 3anuss 1D-6 PP 1




925.00.00.13.07  :Konnekrop 1D-7 PP 1
923.00.00.13.03  iBunt ST5.0X16 1D-8 ST5.0X16-F 10
00.02.04.01.79 Boxr ¢ mpeccmaiiboit M6x32 1D-9 M6X32 1
00.02.01.01.18 I"aiika M6 1D-10 M6 1
925.00.00.13.12 BcraBka a5t Mynb4upOBaHUsS 1D-11 ABS 1
925.00.00.13.13  iIIpyxuHa 1D-12 65Mn 1
925.00.00.13.14  iBax 1D-13 Q235 1
925.00.00.13.15 Kpbiika gexu 3a1Hs1s 1D-14 PP 1
925.00.00.13.16 Pyuxa nepenuss 1D-15 PP, X46 1
925.00.00.13.17  ibamnep nepexuuii 1D-16 PP, X46 1
925.00.00.13.18 dapryk nepenHero 6ammepa 1D-17 PP, X46 1
923.00.00.13.03  :Bunt ST5.0X16 1D-18 ST5.0X16-F 8
925.00.00.13.20  iOmnopa 1D-19 PP 1
925.00.00.13.22  iKpoHurTeiin npasblit 1D-20 Q235, t=2.5 1
925.00.00.13.23 Kponureiin nessiit 1D-21 Q235, t=2.5 1
00.02.04.02.51 Bonr M8X15 1D-22 M8X15 S 13 4
00.02.01.01.21 laiixka M5 1D-23 M5 BcTaBKa HEilIOH 2
926.00.00.13.26  {Kpouurreiin 60KOBOro BEIOpoca 1D-24 SPCC, t=2 1
00.02.04.02.20 Bonr M5X12 1D-25 M5X12 2
926.00.00.13.28  iOch 1D-26 Q235,06 1
926.00.00.13.29  iIIpyxwuHa 1D-27 65Mn 1
926.00.00.13.30  iIIpyxuHa 1D-28 1
926.00.00.13.31  :Kpsika 1D-29 SPCC, t=2 1
926.00.00.13.32  iBan 1D-30 Q235, ¢6 1
921.00.00.02.14  iKombuo cronopHoe 1D-31 65Mn, ®9 1
926.00.00.13.34 [lnactuHa HanpaBJIAIOIIAs 1D-32 PP 1
926.00.00.13.35  iKpsbiuika 60k0BOro BeIOpoca 1D-33 PP 1
925.00.00.14.01  iPpivyar peryJupoOBKH BBICOTHI CKALIMBAHUS Cxema 1E-1 PP, X46 1
00.02.03.02.04 Bunt PH M4X6 notaitnoit 1E-2 M4X6 1
923.00.00.13.03  :Bunt ST5.0X16 1E-3 ST5.0X16-F 4
925.00.00.14.04  iBrynka 3aqHei ocu JieBast 1E-4 PA6 1
925.00.00.14.05  iBrynka 3aamHeii ocu mpasas 1E-5 PAG 1
925.00.00.14.06 Ocb Kkoec 3aHs1s B cOope 1E-6 1
925.00.00.14.07  :Ocb koJec mepemausisi B cbope 1E-7 1
925.00.00.14.08  iOcHoBaHMe BTYJIKH ITepeHEH ocH 1E-8 PAG 2
925.00.00.14.09  iIlnacTHHA MPHKUMHAS 1E-9 PAB, 2
00.02.04.01.78 Bonr M5X50 1E-10 M5X50 4
925.00.00.14.11  IIpyxuHa 1E-11 65Mn 2
925.00.00.14.12  illtudr 1E-12 D1.7X34 1
00.02.01.01.18 Taiika M6 1E-13 M6 1
923.00.00.14.06  :Illaii6a npyxwuHHas (BoaHOOOpa3Has) ¢13X(23.5X0.3X2.5 1E-14 65Mnoe13Xp23.5X0.3X2.5 4
925.00.00.14.15  :Kourpraiixa M8 1E-15 M8 4
925.00.00.14.16  iKpeimka 3aqHEr0 Kojieca BHYTPEHHSS 1E-16 PP, X46 2
923.00.00.12.08  iBunt ST4.2X15 Cxema 2 A1-01 {ST4.2X15-C @8 3
923.00.00.21.02  :Kpermka geuraTens Al1-02 PP 1
923.00.00.21.03 Haxnajka nekopaTHBHAST KPBIIIKH IBUTATEIS A1-03 PP 1
00.02.01.01.18 Taiixa M6 Cxema 2 B1-01 iM6 3
923.00.00.22.02  iCrapTep B cbope B1-02 1
923.00.00.23.01  :Bo3nyxoBoxa Cxema 2 C5-01 PP 1
779.00.00.22.07  iT'aiixa M14X1.5 Cxema 2 D1-011M14X1.5 1
923.00.00.24.02  iXpamoBuk D1-02 08F, 1P65F 1
923.00.00.24.03  Kpsuibuatka D1-03 PP 1
923.00.00.24.04  :BonT KpemIeHns! BO3AYXOBOIa D1-04 1P65F 1
00.02.04.02.12 Bonr M6X25 D1-05 M6X25 1
923.00.00.24.06  |Cseua 3axuranus D1-06 TORCH F6RTC 1
923.00.00.24.07 Mopyib 3a)KUTaHusT D1-07 1
923.00.00.24.08  iMaxoBuK D1-08 HT200 1
923.00.00.24.09  iKoxyx MaxoBHKa D1-09 1
00.02.04.01.64 Bonr M6X18 D1-10 M6X18 2
923.00.00.25.01 i Topmo3 aBurarens B coope Cxema 2 E1-01 1 Y145V 1
00.02.04.02.20 Bonr M5X12 E1-02 M5X12 2
00.02.04.01.66 Bonr M5X18 E1-03 M5X18 1
923.00.00.25.04  iboar E1-04 45#, Y145V 2
779.00.00.11.16  :Boar M5X10 Cxema 2 F1-01 1M5X10 3
923.00.00.26.02  iKpslmka raymuTens F1-02 1
740.04.00.05.00 iBoar M6X30 F1-03 M6X30, T8/13 2
923.00.00.26.04  :I'mymmrens B cOope F1-04 1
923.00.00.26.05  iYmnoTHeHHE IIyNIHTENs F1-05 1
923.00.00.26.06  iBtynka onopHast F1-06 Q235 2




00.02.04.02.20 Bonr M5X12 Cxema 2 G-01 1M5X12 4
923.00.00.27.02  iKpslmka Ki1anaHHas G-02 1
923.00.00.27.03 | YmnoTHeHHe KPHIIIKY KJIATAaHHOH G-03 1
792.05.00.08.00 :Boar M8X45 G-04 M8X45 4
923.00.00.27.05 Kopowmsiciio knanana G-05 2
923.00.00.27.06  iOcb G-06 20Cr 1
923.00.00.27.07 Tapeska onopHas py>KHHbI KJ1alaHa G-07 40Cr, 1P65F 2
923.00.00.27.08  iTIpyxuHa ki1anana G-08 2.0-50CrVA/1P70FA 2
923.00.00.27.09 CallbHUKH KJIAIaHOB KOMILIEKT G-09 1P65F 2
929.00.00.27.10  iT'o;moBka uIMHApa B cOope G-10 1P65F 1
929.00.00.27.11  iKnamau G-11 ADC12 2
929.00.00.27.12 VYII0THEHHE TOJIOBKH LMITHHAPA G-12 1
923.00.00.27.13  illltanra G-13 2
923.00.00.27.14  iTonxatens G-14 20CrMo, 2
929.00.00.27.15 Pacnpensan B coope G-15 20CrMo 1
923.00.00.28.01  :Inuabpka M6X92 Cxema 2 H3-01 iM6X92 2
923.00.00.28.02 i YmnoTHeHHE BILyCKHOTO KOJUICKTOPA H3-02 Macnocrotlikas 6e3acOecToBast KOMIO3HTH: 1
923.00.00.28.03  {KosiekTop BILyCKHOM H3-03 anbpAeruaHO-QeHONIbHAs CMOTIa 1
923.00.00.28.04  !YmnorHeHue KapOropaTopa H3-04 Macnocrotiikas 6e3acOecToBast KOMIO3HTH: 1
923.00.00.28.05  iYmnoTtHeHHe QUIBTPA BO3AYLIHOIO H3-05 1
923.00.00.28.06 [Inaur canyna H3-06 NBR 1
00.02.01.01.18 Taiika M6 H3-07 M6 2
923.00.00.28.08 DeMeHT QUIbTPYIOLIHIA H3-08 T'ubkwmii IeHoNoNIMypeTaH 1
923.00.00.28.09  iKpsimka (HHIbTpa BO3LYLIHOTO H3-09 PP 1
930.00.00.28.10  {KapGroparop H3-07 1
930.00.00.28.11  Kopmyc ¢uibTpa BO3IyIIHOTO H3-08 PP 1
923.00.00.29.01 :Ilyn H3-09 PA66+GF15 1
923.00.00.29.02  iKombuo ymiotHuTensHoe ¢13.2x¢p2.4 H3-10 013.2x2.4 1
923.00.00.29.03  |T'opyioBHHA 3aJIMBHAS H3-11 PA66+GF15 1
00.02.04.04.09 Bunt M4x10 Cxema 2 J-01 1M4x10 2
923.00.00.29.05  iKombuo ymrotHuTensHoe ¢17.2%¢p2.4 J-02 017.2x¢92.4 1
929.00.00.30.01  iKaprep B c6ope Y170V J-03 017.2x¢92.4 1
923.00.00.30.02  |{CanpHuk 22%x41.25%7 K-02 @ropanacromep, 22x41.25x7 1
923.00.00.30.03  iKopompicio peryastopa 060poToB K-03 45# 1
00.02.02.02.38 aii6a K-04 06.5X12X1 1
923.00.00.30.05 iCanpHuk 6x11x4 K-05 ByraaueH-HUTPUIbHBIH Kaydyk, 6x11x4 1
923.00.00.30.06  {IImuAT NpyXUHHBIIT K-06 TpYKMHHOM cTanb, 1P65F 1
923.00.00.30.07  :Knaman K-07 HeprkaBeromias ctanp, (=0.2 1
923.00.00.30.08  iBunut PH c npeccaii6oii K-08 M4x6 1
923.00.00.30.09  !YmnoTHeHHE KPBILIKK CayHa K-09 1
923.00.00.30.10  :Kpemuka cammyHa K-10 ADC12 1
923.00.00.30.11  iBunt PH moraitnoit M4X10 K-11 M4X10 3
923.00.00.30.12  iBrynka HampaBIsrOIIAs K-12 10x16/1P65F 2
929.00.00.31.01  {Kosb110 MOpIIHEBOE KOMITPECCHOHHOE | Cxema 2 L-01 |{10x16/1P65F 1
929.00.00.31.02  Kombuo nopuraeBoe Kommpeccronuoe 11 L-02 AEDS60, 1., ¢70 1
929.00.00.31.03 Koo MaciocbeMHOE L-03 AEDQO02, 1.0, ¢70 2
929.00.00.31.04  iKombmo omopHoe L-04 AEDS72, ¢70 1
929.00.00.31.05 iIlopuieHs L-05 AEDS40, ¢70 1
923.00.00.31.06  :CromopHOE KOJIBIIO HAIbIIa IIOPLIHEBOTO L-06 65Mn, 12G1 2
923.00.00.31.07  iIlaserr mopIIHEBOM L-07 ML20Cr, ¢5.5%@12x45.6 1
923.00.00.31.08 iIllaryn B c6ope L-08 012, 9222, 70 1
929.00.00.32.01  !Konensax B c6ope Cxema 2 M1-01 {12, $22.2.70 1
923.00.00.32.02  :Illaii6a ¢25.5%(p36x1.0 M1-02 025.5%936%1.0 1
923.00.00.33.01  iBrynka nanpasmsromas ¢6.5Xe8X10 Cxema 2 N-01 196.5Xp8X10 2
923.00.00.33.02  !YmnoTHeHue KapTepa N-02 Macnocroiikas 6e3acoecToBas 1
923.00.00.33.03  !1lait6a ¢6.1X@15X0.5 N-03 06.1X015X0.5 2
923.00.00.33.04  iBay co CTONMOPHBIM KOJIBIIOM N-04 45# 1
923.00.00.33.05  illlectepHs orpaHHdHTENbHAS B COOpE N-05 PA66 1
923.00.00.33.06  {Brynxa N-06 PA66+GF15% 1
923.00.00.33.07  iPsruar N-07 65Mn, 1P65F 1
793.02.00.12.00 iBoar M6x12 N-08 M6X12 3
923.00.00.33.09  iKpsimka kaprepa N-09 ADC12 1
740.04.00.05.00 iboar M6X30 N-10 M6X30, T8/13 7
923.00.00.33.11 CaJIbHUK KOJICHYAaTOro Baja N-11 ¢broprayayk, 25x40x7 1
923.00.00.34.01  iTsra ApoccenbHOl 3aCIOHKH Cxema 2 P2-01 ineprkaBeromiail cTanpHas MpOBOJIOKa, O2 1
923.00.00.34.02  iIIpyxuHa qpoCcCeNbHOU 3aCIOHKA P2-02 Hep KaBerolal cTalbHas IPOBOJIOKA 1
923.00.00.34.03  iBont M6x23 P2-03 M6X23 ¢ T-06pa3Hoii ro0BKOH 1
930.00.00.34.04 i Pervar perymupoBKH 000pOTOB P2-04 SPCC 1
00.02.01.01.18 T"aiika M6 P2-05 M6 1




793.02.00.12.00  iBoar M6x12 P2-06 M6X12 2
930.00.00.34.07  iPerymsiTop ckopocTH p2-07 1
930.00.00.34.08 iIIpyxwuHa p2-08 1
930.00.00.34.09  !Peryar apoccenbHOi 3aCIOHKH P2-09 1
930.00.00.34.10  iIlpyxwuHa P2-10 1P70FA 1
00.02.03.02.04 Bunt M4X6 p2-11 M4X6 1
930.00.00.34.12 Koxyx 3amuTHbII P2-12 Q235, 1P65F 1
923.00.00.35.01  :Kpslmka TOmmBHOro 6aka Cxema 2 Q-01 PAB, 1P65F 1
923.00.00.35.02 i YmnoTHeHHe KPHIIIKK TOILTMBHOTO Oaka Q-02 NBR, 1P65F 1
923.00.00.35.03  iOrpaHHYUTENb KPHILIKKA TOIUTHBHOTO OaKa Q-03 PAB, 1P65F 1
923.00.00.35.04 Bax TornmuBHBII Q-04 HDPE, 1
00.02.04.02.24 Bonr M6X30 Q-05 M6X30 1
923.00.00.35.06 I1Tait6a rpoBepa 6 Q-06 6 1
923.00.00.33.03  iIllaiiba ¢6.1Xp15X0.5 Q-07 06.1X15X0.5 2
00.02.04.01.77 Bonr M6X22 Q-08 M6X22 1
923.00.00.35.09 i YmoTHeHue Q-09 PA6 2
00.02.01.01.18 Taiika M6 Q-10 M6 1
923.00.00.35.11 | TorMBONPOBOA Q-11 Hurpunosbrii kay4yk, L 280 1
923.00.00.35.12 i Xomyt II Q-12 npyxuHHbIH, 1P65F 1
923.00.00.35.13  i3axum Q-13 Q235, 1P65F 1
923.00.00.35.14  iTommBonpoBOx GuiIbTpa Q-14 HDPE, 1P65F 1
923.00.00.35.15  iXomyt I Q-15 1P65F 1
923.00.00.35.16 1 ®DunbTp Q-16 Meramueckas cerka /1P65F 1

HUHTEPCKO.I




Pa3oopHas cxema 1 JleiicTurenen ¢

I'B-51/170Bb | ApTHKYT M3enms: | Q3( ** F* Kk Kk
[B]

NHTEPCK{ON

[A]

18\\\-")
7

5\,{\ "

ook XS1SHLY—C
NO.23171008




‘MVIHTEF'I:KQ

Pa3oopHas cxema

JlelicTBUTENEH C

I'b-51/170Bb

ApTHKyT u3aenus:

930 '**.**'**.**

24.02.2025

B1




-

13—.:["‘"




